
tzpfKk; fzf;fPl;Lf; 
fy;tpAk; 

 juk; 10 

Mf;fk;   - jpU f.rj;jpahde;jd;  ah/rhtfr;Nrup ,e;Jf; fy;Y}up 
jahupg;G  - nry;tp ,.M.m.n[];ypd;  ah/Gdpj n`d;wpaurh; fy;Y}up 



juk; 10  tzpff;fy;tpAk; fzf;fPLk; 

    nghJthf rkd;ghL vd;gJ fhuzpfSf;F ,ilapyhd njhlu;gpid 
Fwpg;gpLfpd;wJ. fzpj ghlj;jpy; ,uz;bw;F Nkw;;gl;l fhuzpfSf;F ,ilapyhd 
njhlu;gpid ghu;j;jpUg;gPu;fs;. fzf;fPl;by; cupik, nghWg;G,   nrhj;J Mfpa 
fhuzpfSf;f ,ilapyhd njhlu;gpid Fwpg;gjhf miktNj fzf;fPl;Lr; 
rkd;ghlhFk;. 
 

nrhj;Jfs; 

cupik 

fzf;fPl;Lr; 
rkd;ghl;bd; 
$Wfs; 

nghWg;Gf;fs; 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

 tzpfj;jpw;F cupikahsu; khj;jpuk; tsj;ij <LgLj;jpapUf;Fk; 
NghJ 

 

nrhj;Jfs; 
(fhR, NtW nrhj;J) 

 
cupik 
(%yjdk;) 

 

  Eg:- cupikahsu; 100 000 fhrpid %yjdkhf nfhz;L tuy;. 
 
 

nrhj;J (fhR) 
100,000 

 
 

 
%yjdk; 
100,000 

 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

 tzpfkhdJ cupikahsu; kw;Wk; ntspaf 
fl;rpaplkpUe;J  tsj;ij jpul;Lk; NghJ 

nrhj;Jfs; 

 
cupik 

 

 
nghWg;G 

 

  Eg:- ,t;tzpfj;jpw;F 100 000 tq;fpf;fld; ngwg;gLkhapd; 

nrhj;J 
(fhR) 
200,000 

 
 

cupik 
(%yjdk;) 
100,000 

 
 

 
 

nghWg;G 
(tq;fpf;fld;) 

100,000 

 
 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

juk; 10 

;;                                                                                                                                                              

tUkhdk; 
cioj;jy; 

NkyjPf 
%yjdk; 
,ly; 

vLg;gdT 
Nkw;nfhs;sy; 

nryT 
Vw;g;gly; 

nrhj;J 

 
cupik 

 

 
cupik 

 
nrhj;J 

nrhj;J 

nrhj;J 

 
cupik 

 

 
cupik 

 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

gpd;tUk; nfhLf;fy; thq;fy; cupik nghWg;G nrhj;jpy; vt;thwhd 
jhf;fj;ij Vw;;gLj;Jk;. 
mjpfupf;Fkhapd; (+) vdTk;, FiwAkhapd;(-) vdTk;, khw;wkpy;iy vdpd; (0) 
vdTk; milahskpLf.   

nfhLf;fy; thq;fy; cupik nghWg;G nrhj;J 

1 %yjdk; ,ly; 

2 flDf;F ruf;F nfhLj;jy; 

3 nrytPdk;  nrYj;jy; 

4 Cupikahsu; fhR gw;wy; 

5 fld; jPu;j;jy; 

6 juF ngwy; 

7 juF nfhLj;jy; 

8 fld;gl;Nlhuplk; gzk; ngwy; 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

ntw;wplq;fis G+u;j;jp nra;f. 

ntw;wplj;jpy; cupa ngWkhdk; ,Ue;jhy;   milahsk; ,lTk;. 
,y;iyNay;   milahsk;   ,lTk;. 

cupik 
 

eilKiwg; 
nghWg;G 

 

eilKiw 
my;yh 
nghWg;G 

 

eilKiw 
my;yh 
nrhj;J 

 

eilKiwr; 
nrhj;J 

  
my;yJ
 

350,000 + 50,000 + 200,000 = 510,000 + 90,000 

815,000 + 90,000 + 325,000 = 620,000 + 410,000 

780,000 + 110,000 + 430,000 = 1,050,000 + 270,000 

695,000 + 140,000 + 220,000 = 1,020,000 + 350,000 

810,000 + 290,000 + 360,000 = 990,000 + 470,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

cupikahsu; 
%yjdk; ,ly; 

fld; 
nfhL;Njhu;f;F 

fhR nfhLj;jy; 

cupikahsu; 
nrhe;j Njitf;F 

tq;fp  
  NkyjPf gw;W 

ngwy; 
Cupikahsu; 
gw;Wr; nra;jy; 

  cupikahsu; 
 jdJ nrhe;j 
gzj;ijf; nfhz;L 
fld; nfhL;Njhu;f;F 
fhR nfhLj;jy;  

; 
  tq;fp  

  NkyjPf gw;W 
ngw;W fld; 
nfhL;Njhu;f;F  
fhR nfhLj;jy; 

fld;gl;Nlhuplk; 
fhR ngwy;  

flDf;F ruf;F 
nfhs;tdT 
nra;jy; 

fzf;fPl;Lr; 
rkd;ghl;bd; 

kPjhd 
jhf;fqfspd; 
tiffs; 

cupik 
nrhj;J 
 

nrhj;J 
     

       nghWg;G 

 nghWg;G 
 nghWg;G 

nrhj;J 
nrhj;J 
 

cupik 
 

nrhj;J 

cupik 
 nghWg;G 

cupik 
nghWg;G 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

epWtdk; xd;wpd; gpd;tUk; nfhLf;fy; thq;fSf;fhd fzf;fPl;Lr; 
rkd;ghl;Lj; jhf;fq;fis fhl;Lf.   

1. cupikahsu; NkyjPf %yjdkhf 100,000 [ <LgLj;jpAs;shu;. 
2. tl;b 1000/=  cs;slq;fyhf tq;fpj; jtizf;fl;lzkhf 10,000 /= 

nrYj;jg;gl;lJ. 
3. 50,000/= ngWkjpahd ruf;Ffs; kPs; tpw;gid Nehf;fk; fUjp flDf;F 

nfhs;tdT nra;ag;gl;lJ. 
4. fld; nfhL;Njhu;f;F 25,000/= nrYj;jg;gl;lJ. 

 
5. 100,000 /= ngWkjpahd cupikahsUf;Fr; nrhe;jkhd fdzp xd;W 

tzpfj;Njitf;nfd tzpfj; Njitf;nfd toq;fg;gl;Ls;sJ. 
6. 50,000/= ngWkjpahd ruf;Ffs; 75,000/= ,w;F flDf;F tpw;gid 

nra;ag;gl;lJ. 
7. Tpsk;gur; nrythf 5,000/= nrYj;jg;gl;lJ. 
8. fld;gl;Nlhuplk; ,Ue;J 35,000/= ngwg;gl;lJ. 
9. cupikahsupd; nrhe;j MAl;fhg;GWjp fl;lzk; 2,500/= epWtdj;jpy; 

,Ue;J  nrYj;jg;gl;lJ. 
10. KjyPl;L tUkhdk; 5,000/=  fpilf;fg; ngw;wJ.  

 
 juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

        +100,000 +100,000 

-10,000 -1,000 -9,000 

+50,000 +50,000 

-25,000 -25,000 

+100,000 +100,000 

-50,000 75,000 +25,000 

-5,000 -5,000 

-35,000 +35,000 

-2,500 -2,500 

+5,000 +5,000 

1 

2 

6 

7 

8 

9 

10 

4 

5 

3 

1-10  ,yf;fkplg;gl;l nghj;jhid mOj;jTk; 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

cupikahsu; 
NkyjPf 
%yjdkhf 
100,000 [ 
<LgLj;jpAs;shu;. 
 

+100,000 +100,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

tl;b 1000/=  
cs;slq;fyhf 
tq;fpj; 
jtizf;fl;lz
khf 10,000 /= 
nrYj;jg;gl;lJ. 
 

-10,000 -1,000 -9,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

50,000/= 
ngWkjpahd 
ruf;Ffs; kPs; 
tpw;gid 
Nehf;fk; fUjp 
flDf;F 
nfhs;tdT 
nra;ag;gl;lJ. 
 

+50,000 +50,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

fld; 
nfhL;Njhu;f;F 
25,000/= 
nrYj;jg;gl;lJ. 

-25,000 -25,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

100,000 /= 
ngWkjpahd 
cupikahsUf;Fr; 
nrhe;jkhd fdzp 
xd;W 
tzpfj;Njitf;nfd 
tzpfj; 
Njitf;nfd 
toq;fg;gl;Ls;sJ. 

+100,000 +100,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

50,000/= 
ngWkjpahd 
ruf;Ffs; 75,000/= 
,w;F flDf;F 
tpw;gid 
nra;ag;gl;lJ. 

-50,000 75,000 +25,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

Tpsk;gur; nrythf 
5,000/= 

nrYj;jg;gl;lJ 

-5,000 -5,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupi
k 

nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

fld;gl;Nlhuplk; 
,Ue;J 35,000/= 

ngwg;gl;lJ. 

-35,000 +35,000 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

cupikahsupd; 
nrhe;j 
MAl;fhg;GWjp 
fl;lzk; 2,500/= 
epWtdj;jpy; ,Ue;J  
nrYj;jg;gl;lJ. 

-2,500 -2,500 

juk; 10 



juk; 10 tzpff;fy;tpAk; fzf;fPLk; 

nfhLf;fy;   
thq;fy;fs; 
 

nrhj;Jf;fs; cupik nghWg;Gf;fs; 

fdzp ruf;fpUg;G fld;gl;Nlhu; fhR tq;fpf;fld; fld; 
nfhLj;Njhu; 

KjyPl;L tUkhdk; 
5,000/=  fpilf;fg; 
ngw;wJ.  

+5,000 +5,000 

juk; 10 


